RIBE=2 U VJRERE (FR20E18~9A)

1 KEEZARYIRERR
(1) BB - Bk
(2) REBhTK
(3) WEKEERZH K
(4) BEKERHTK

BERRERMEET=2) VI RERR
ARJEEMEE=2 ) U JRERE
BERBE=42 Y VJRERR

(1) BE

(2) &5



1

KEE=A)VIRAEHRR
(1) Bma - Bk

7—11 7—12
N KED KED
No mH R | RREX st (HE) BRES (REER)
AEEAR H20.1.9 H20.2. 6 H20.3.5 H20. 4. 23 H20.5.7 H20.6. 4 H20.7.2 H20.8. 6 H20.9.3 H20.5.7 H20.8.6
X 52U 50U 5y Bh Bh Bh B Bh Bh Bh LD
R 12:30 11:39 10:38 10:57 10:26 10:00 11:03 10:03 10:54 9:25 8:58
KB °c -0.5 -0.6 4.8 22.8 16.0 22.8 25.0 24.8 28.1 12.2 22.0
KB °Cc 1.1 1.0 0.5 11.5 13.5 15.0 21.3 23.1 19.2 10.7 17.5
BIRE 3 = 30 = 30 = 30 = 30 = 30 = 30 14 25 27 = 30 = 30
&t BEE BEE BEE BEE BE BFEE | EEE REE FTBE BE BE
a5 mE wa wE wE wE wE wE R wE R wE
1| AKIHLA mg/Q 0.01 LIF — — — — — — — — — — —
AP T T = = = = = = = = — = —
KRES mg/Q 0.01 LI F — < 0.001 — — < 0.001 — < 0.001 < 0.001 — — < 0.001
4 |t mg/Q 0.01 LI'F - < 0.001 - — < 0.001 — < 0.001 < 0.001 — — < 0.001
5 |[#a/KER mg/Q 0.0005 LLF — — — — — — — — — — —
6 [R)EBILET =)L (PCB) mg/Q TR — — — — — — — — — — -
AP A== P ¥ B mg/Q 0.02 LIF — < 0.001 — — < 0.001 — < 0.001 < 0.001 — — < 0.001
8 |migibimE mg/Q 0.002 LI'F — — — — < 0.0001 - - < 0.0001 — — < 0.0001
9(1,2-CHyopnxT4ay mg/Q 0.004 LIF — < 0.0001 — — < 0.0001 — < 0.0001 < 0.0001 — — < 0.0001
10(1,1-CHyopoxTFL mg/Q 0.02 LUIF - < 0.001 - — < 0.001 — < 0.001 < 0.001 — — < 0.001
1M|{>zx-1,2-CHooxFL > mg/Q 0.04 LIF — < 0.001 — — < 0.001 — < 0.001 < 0.001 — — < 0.001
1211,1,1-r) o O0OxTR > mg/Q 1 UF — — — — < 0.0005 — - < 0.0005 — — < 0.0005
13|11,1,2-ryBRATR Y mg/Q 0.006 LLF — — — — < 0.0001 — — < 0.0001 — — < 0.0001
14\ +)0QxTFLY mg/Q 0.03 LIF — — — — <0.001 — - < 0.001 — — < 0.001
157 v 0QTFLY mg/Q 0.01 LI F — < 0.0005 — — < 0.0005 — < 0.0005 < 0.0005 — — < 0.0005
16(1,3-> oo 7oy mg/Q 0.002 LIF — — — — < 0.0001 — - < 0.0001 — — < 0.0001
17|1RVEY mg/Q 0.01 LI F — < 0.001 — — < 0.001 — < 0.001 < 0.001 — — < 0.001
18|L > mg/Q 0.01 LI'F — — — — <0.001 — - < 0.001 — — < 0.001
19 THEE =R mg/Q 10 UF — — — — 0.04 — — <0.02 — — 0.81
BRI ER mg/Q — — — — < 0.005 — - < 0.005 — — < 0.005
20( 5 o%& mg/Q 0.8 LIF — — — — <0.15 — — 0.19 — — <0.15
2|1F5% mg/Q 1 UF <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 — <0.02
2|5 AAF 58 pg-TEQ/Q 1 UF — — — — 0.043 — — 0.042 — — 0.044
BlZFRUEY mg/Q — — — - — - - - < 0.0001 - — < 0.0001
24| ML mg/Q — — — — — — — — < 0.001 — — < 0.001
25|1FLY mg/Q — - — - — - - - < 0.001 - — < 0.001
26| p H — 6.7 6.5 6.4 6.9 7.4 1.2 7.1 7.1 6.4 7.6 7.5
27|BOD mg/Q — — — — — 5.6 — — 4.0 — — <0.5
28|COD mg/Q — — — — — 7.9 — — 8.3 — — 2.8
29|s s mg/Q — - — - — 12 — - 9 — — 4
N|(eEH mg/Q — — — — — 1.1 — — 2.3 — — 0.87
eV A mg/Q — - — - — 0.071 — - 0.078 — — 0.011
ﬁiﬁ:{t%’f?."‘/ mg/Q — 12 12 15 9.7 11 12 11 8.7 8.7 13 17
B |ERIZER ©S/cm — 150 150 160 130 130 140 140 130 130 100 130




7—13

- w4t 5 KEQ
No i) Bifsf RISHE ok -
HETAR H20.7.9 120 2.6 2035 W20.4.23 2057 720,62 207 2 20,86 H20. 9.3
PGS =Y =Y =) BEn [ BEn [ BEn [
BREZ 12.37 11:55 10.47 10:47 70-06 9:53 1051 10:19 10.46
] °C 0.6 1.2 5.3 210 16.1 2.4 228 224 250
K °C 3.3 3.6 2.9 1.3 10.5 1.5 15.2 15.4 15.4
BEE E > 30 = 30 > 30 > 30 > 30 = 30 > 30 > 30 > 30
=% i3S 3] wiaf =) wiaf 3] i3S 3] i3S
25 | | |E | |mE |mE mE mE mE
T[hFEoL me/0 0.01 LT = = = = = = = = —
2|27y mg/Q R — — — — — — - - -
3 [ me/0 0.01 LIF - <0.001 - - <0.001 - 0,001 <0.001 =
4 [itE mg/0 0.01 LT - <0.001 - - <0.001 - 20,001 0. 001 =
5 [#7k3R mg/8_ | 0.0005 LIF = = = = = = = — —
6 [ 1&ILE 7 =)L (PCB) me/0 TR = - - - - - — — —
ICZEEE Y, me/0 0.02 LIF - <0.001 - - <0.001 - 0,001 0,001 =
8 [ mEiER me/8 | 0.002 LIF — - - < 0. 0001 - <0.0001 -
9[1.2CrnRTiy mg/ | 0.004 LT - < 0.0001 - - < 0. 0001 - < 0.0001 <0.0001 =
10[1,1-vsARTFLY me /2 0.02 LIF - <0.001 - - <0.001 = 20,001 0. 001 =
oAl 2os00TF0> me/Q 0.04 LIF - <0.001 - - <0.001 - <0.001 <0.001 =
HINEYPEEEED) me/Q 1T WF = — — — <0.0005 - - <0.0005 =
HINNAYPEEEE D, mg/8 | 0.006 LT = = — = < 0. 0001 - = <0.0001 =
NIYEEEEETD) mg/0 0.03 LIF = — — — <0.001 - = 0. 001 =
5|7 FS/AOTFLY me/0 0.01 LIF - <0.0005 - - <0.0005 - <0.0005 <0.0005 =
613>/ 0070~y me/8 | 0.002 LIF = — — — < 0. 0001 - - <0.0001 =
T[~o€> me/0 0.01 LIF - <0.001 - - <0.001 - 0,001 <0.001 =
18l me/0 0.01 LT = — — — <0.001 - - 0,001 =
M ER mg/Q . — — — — 1.7 — — 1.3 —
NMETTEE me/ 10 JF = = = = 0075 = = 0,006 =
0[5 -5 me/0 0.8 LT = = — = <0.15 - = <0.15 =
20(F5% mg/0 T UF| <002 <0.02 <0.02 <0.02 <0.02 <0.02 20,02 20,02 20,02
R[FAAFLUE pe-TEQ/Q 1T WF = — — — 0.042 — — 0.043 —
BlTFAS B me/0 — — — — — - - - <0.0001 =
2% FLTY me/0 = — = — = - - - <0.001 =
BlET L me /0 — — — — — - - - <0.001 =
26]p H = 7.2 7.3 7.2 7.2 7.3 7.2 7.2 7.2 7.0
27[BOD me/0 = - - - - 0.5 - - 0.5 -
28[CoD me/Q = = = = = 17 = = 2.0 =
29|S s mg/4 — — — — — 1 — - 3 -
EEES me/0 = — = — - 24 - = 19 =
32V A me/0 — — — - - 0.008 - = 0.009 =
BHRIEED me/0 = 8.9 8.9 9.1 9.9 9.7 9.2 8.5 8.6 8.7
B ESEEE 1S/cm = 140 140 140 130 140 140 140 130 130




7—14

- w4t 5 KE®
No A R | RERE Tk - ERKE (i)
SREEAR H20.1.9 H20.2.6 H20.3.5 H20. 4. 23 H20.5.7 H20.6. 4 H20.7.2 H20.8.6 H20.9. 3
X U B B B Bh LD Bh Bh Bh
BRI 12:49 12:09 11:02 10:22 9:50 9:43 10:38 9:36 10:37
KB °Cc 1.1 1.1 5.0 21.8 13.1 22.3 27.6 23.0 26. 1
KR °Cc 10.4 10.8 10.8 11.2 1.1 10. 6 11.6 12.6 10.6
BIRE JE3 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30
X BE BE BE BE BE BE BE wE wE
a5 wE mE wa wE wa wE wE wE R
1|AKRIHL mg/Q 0.01 LI'F — — — — — — — — —
757 e/t | B = = = = = = = — =
3 |#h mg/Q 0.01 LI'F — < 0.001 — — < 0.001 — < 0.001 < 0.001 —
4 (&= mg/Q 0.01 I'F — 0. 001 — - 0. 001 - < 0.001 0.001 —
5 |#KER mg/Q 0.0005 LIF — — — — — — — — —
6 |HR)iE{ILET =)L (PCB) mg/Q ESET — — — — — — — — —
VAPZA=I=P. X B mg/Q 0.02 LI'F — < 0.001 — — < 0.001 — — < 0.001 —
8 |miEibRE mg/Q 0.002 LI'F — — — - < 0.0001 - — < 0.0001 —
9|1,2->/pRI4a Y mg/Q 0.004 LIF — < 0.0001 — — < 0.0001 — — < 0.0001 —
1001, 1->HopxTFLY mg/Q 0.02 LI'F — < 0.001 — - < 0.001 - — < 0.001 —
1M Zx-1,2->s00xTFLY mg/Q 0.04 LI F — < 0.001 — — < 0.001 — — < 0.001 —
1211,1,1-r) 0T R > mg/Q 1 UF — — — — < 0. 0005 - — < 0.0005 —
13[1,1,2-k) BT R > mg/Q 0.006 LI'F — — — — < 0.0001 — — < 0.0001 —
14|c) 20T FL Y mg/Q 0.03 LI'F — — — — < 0.001 - — < 0.001 —
15|70 FLY mg/Q 0.01 LI'F — < 0.0005 — — < 0.0005 — — < 0.0005 —
16|1,3-> oo JarRy mg/Q 0.002 LI'F — — — — < 0.0001 - — < 0.0001 —
17|+ mg/Q 0.01 LI'F — < 0.001 — — < 0.001 — — < 0.001 —
18[L > mg/Q 0.01 LI'F — — — — < 0.001 - — < 0.001 —
RREEE ne /0 : = = = = 20 = - 2.0 =
Y anmrzs ne/ 10 AT - - - - 0,005 - = 0005 =
20( 5o % mg/Q 0.8 LI'F — — — — <0.15 — — <0.15 —
20{1F5% mg/Q 1 UF 0.02 <0.02 <0.02 0.02 <0.02 <0.02 <0.02 0.02 <0.02
DN|FAAF 88 pg-TEQ/Q 1 UF — — — — 0.042 — — 0.042 —
| ZTFILRUEY mg/Q — — — — — — - — < 0.0001 —
24|k mg/Q — — — — — — — — < 0.001 —
25|FLY mg/Q — — — — — — - — < 0.001 —
26|p H — 7.0 7.0 7.0 7.0 7.0 6.9 6.9 6.9 6.8
27|{BOD mg/Q — — — — — <0.5 — — <0.5 —
28|CcoOD mg/Q — — — — — 0.6 — — 0.9 —
29|S S mg/Q — — — — - <1 - — <1 —
R EXES mg/Q — — — — — 2.1 — — 2.0 —
MEeVYA mg/Q — — — — - 0.022 - — 0.022 —
32 jetl mg/Q — 60 60 59 59 59 59 58 58 49
B|ERIGEE 1 S/cm — 330 330 320 320 310 330 330 330 300




T—17
BRINITR

No e wh | mmae
SREEAR H20.1.9 H20.2.6 H20.3.5 H20. 4. 23 H20.5.7 H20.6. 4 H20.7.2 H20.8.6 H20.9. 3
X D B D Bh Bh B Bh Bh D
BRI 10:32 9:31 8:30 10:06 10:29 9:30 10:18 9:37 10:25
KB °Cc 0.2 -4.1 1.8 17.1 15.2 20.1 25.2 24.2 25.2
KR °Cc 1.7 6.9 2.2 12.6 12.0 13.7 15.0 15.7 15.5
BIRE JE3 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30
Bh wE wE wE wE wE BE ) wE )
B& ®E wE ®E wE wE wE ®E wE wE
1|AKRIHL mg/Q 0.01 LI'F — — — — — — — — —
AP e/t | B = = = = = = = = =
3 |#h mg/Q 0.01 LI'F < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
4 (&= mg/Q 0.01 I'F < 0.001 0. 001 0.002 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
5 |#KER mg/Q 0.0005 LIF — — — — — — — — —
s[RI ERET ==L 0B | men | FRE = = = = = = = = =
VAPZA=I=P. X B mg/Q 0.02 LI'F < 0.001 < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 —
8 |miEibRE mg/Q 0.002 LI'F — — — - < 0.0001 - — < 0.0001 —
9|1,2->/pRI4a Y mg/Q 0.004 LIF < 0.0001 < 0.0001 < 0.0001 — < 0.0001 — < 0.0001 < 0.0001 —
10(1,1->y00xTFL > mg/Q 0.02 LIF < 0.001 < 0.001 < 0.001 - < 0.001 — < 0.001 < 0.001 —
M|oR-1,2-sOAITFLY mg/Q 0.04 LI'F < 0.001 < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 —
12{1,1,1-k) BRI R > mg/Q 1 UF — — — — < 0. 0005 - — < 0.0005 —
13[1,1,2-k) BT R > mg/Q 0.006 LIF — — — — < 0.0001 — — < 0.0001 —
14|c) B0 FLY mg/Q 0.03 LI'F — — — — < 0.001 - — < 0.001 —
157 200 TFLY mg/Q 0.01 I F < 0.0005 < 0.0005 < 0.0005 — < 0.0005 — < 0.0005 < 0.0005 —
16|1,3-> oo JarRy mg/Q 0.002 LI'F — — — — < 0.0001 - — < 0.0001 —
17|+ mg/Q 0.01 LI'F < 0.001 < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 —
18[L > mg/Q 0.01 LI'F — — — — < 0.001 - — < 0.001 —
BREEE e/ ) = = = = 18 = = 19 =
Y anmrzs ne/ 10 2T = - - - 0,005 - = 0005 =
20( 5o % mg/Q 0.8 LI'F — — — — <0.15 — — <0.15 —
20{1F5% mg/Q 1 UF 0. 05 0.03 0.06 0.07 0.08 0.03 0.04 0.06 0.06
DN|FAAF 88 pg-TEQ/Q 1 UF — — — — 0. 059 — — 0. 045 —
| ZTFILRUEY mg/Q — — — — — — - — < 0.0001 —
24|k mg/Q — — — — — — — — < 0.001 —
25|FLY mg/Q — — — — — — - — < 0.001 —
26|p H — 8.0 7.9 7.8 7.9 8.0 8.0 7.9 7.9 7.8
27|{BOD mg/Q — — — — — 0.5 — — 0.5 —
28|CcoOD mg/Q — — — — — 2.5 — — 1.8 —
29|S s mg/Q — — — — — 9 - — 2 —
R EXES mg/Q — — — — — 2.0 — — 2.8 —
MEeVYA mg/Q — — — — — 0.030 - — 0.025 —
32 jetl mg/Q — 74 75 88 91 110 73 72 74 59
B|ERIGEE 1 S/cm — 380 380 420 410 450 380 370 380 330




No ] =]

B

7—18
HENLER

7—19
HENTHR

(BG)

AEEAH H20.5.7 H20.8.6 H20.5.7 H20.8.6
PN Eh [ Eh Eh
REEEZI 10:11 6:56 9:51 6:42
5B °C 14.9 19.5 15.0 19.1
KR °C 13.1 16.8 12.0 16.8
BRE )4 = 30 = 30 = 30 = 30
=Xi S 3 1S 3
25 ] E|R |E |
1|AFZIHL mg/Q 0.01 LI'F - — — —
2|7y mg/2 TRH — - — -

3 [¢n mg/Q 0.01 LA™ <0.001 < 0.001 < 0.001 < 0.001
4 |ft%R mg/Q 0.01 U'F 0. 001 0.002 0. 002 0. 003
5 |[#87KER mg/Q 0.0005 LI'F - — — —

6 |[RUEILET =)L (PCB) mg/Q g — - - -
ACZA=1=FX ¥ mg/Q 0.02 L] <0.001 < 0.001 < 0.001 < 0.001
8 |miEibRE mg/Q 0.002 LI'F — < 0.0001 — < 0.0001
I,.2->sooxTia > mg/Q 0.004 LIF] <0.0001 < 0.0001 < 0.0001 < 0.0001
10(1.1->y0xFL > mg/Q 0.02 LIF] <0.001 <0.001 < 0.001 <0.001
1M Zx-1,2->s00xTFLY mg/Q 0.04 LIF] <0.001 < 0.001 < 0.001 < 0.001
12(1,1,1-kYY 002> mg/Q 1 UF — < 0.0005 — < 0.0005
13[1,1,2-bYy00RITR Y mg/Q 0.006 LIF — < 0.0001 — < 0.0001
1MA4lr) 00T FLY mg/Q 0.03 U'F — <0.001 — <0.001
15|17 5800 IFLY mg/Q 0.01 LA™ <0.0005 < 0.0005 < 0.0005 < 0.0005
16(1,3->4/noJoRy mg/4 0.002 LL'F — < 0.0001 — < 0.0001
7[R mg/Q 0.01 LA™ <0.001 < 0.001 < 0.001 < 0.001
18|l > mg/4 0.01 L'F — <0.001 — <0.001

HEEER mg/4 . - 0.34 — 0. 46

N me/8 10 uF = 0,005 = 0,006
20|15 0F mg/Q 0.8 LUIF — <0.15 — <0.15
2{F5F mg/Q 1 UTF] <0.02 0.02 <0.02 0.03
2|84 FX U5 pg-TEQ/Q 1 UTF — 0. 044 — 0. 045
|I|TFILNUEY mg/Q — — < 0.0001 — < 0.0001
4| bLT Y mg/Q — — < 0.001 — < 0.001
25|F LY mg/Q — — <0.001 — <0.001
26|p H — 1.4 1.4 7.4 7.5
27|BOD mg/Q — — 0.9 — 0.9
28|COD mg/Q — — 1.9 — 2.0
29{s's mg/Q — — 1 — 2

R EXES mg/Q — — 0.38 — 0. 49
M|eYA mg/4 — — 0.007 — 0.010
| 32|iBiEAA > mg/Q — 5.3 5.2 7.3 6.9
33| BRInER £ S/cm — 71 88 79 98




7—20

No " s | mmas RRER
(GRIK)
RAEFAH H20.1.9 H20.2.6 H20.3.5 H20. 4. 23 H20.5.7 H20.6. 4 H20.7.2 H20.8.6 H20.9. 3
*i& EY) B EY) B B B B B B
BRI 11:36 10:41 9:41 11:18 11:00 10:27 11:20 10:50 11:26
KB °Cc -0.6 -3.6 2.1 22.3 14.2 20.3 24. 4 23.2 26.8
KR °Cc 2.6 1.3 2.0 12.4 11.9 12.0 14.5 15.5 13.1
BIRE JE3 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30
A e wE e wE e wE wE wE wE
Bs WE wa e wE e wE e wE e
1|AKRIHL mg/Q 0.01 LI'F — — — — — — — — —
o7y e/t | FEE = = = = = = = = =
3 |#h mg/Q 0.01 LI'F — <0.001 — — < 0.001 — < 0.001 < 0.001 —
4 (&= mg/Q 0.01 I'F — <0.001 — — < 0.001 - < 0.001 < 0.001 —
5 |#KER mg/Q 0.0005 LIF — — — — — — — — —
s RUBEBEET ==L ®B) | met | FEE = = = = = = = = =
P A= =X mg/Q 0.02 LI'F — <0.001 — — < 0.001 — < 0.001 < 0.001 —
8 |miEibRE mg/Q 0.002 LI'F — < 0.0001 — — < 0.0001 - < 0.0001 < 0.0001 —
9|1,2->/pRI4a Y mg/Q 0.004 LIF — < 0.0001 — — < 0.0001 — < 0.0001 < 0.0001 —
10{1,1->y00xTFL Y mg/Q 0.02 LI'F — < 0.001 — - < 0.001 — < 0.001 < 0.001 —
1M Zx-1,2->s00xTFLY mg/Q 0.04 LI F — < 0.001 — — < 0.001 — < 0.001 < 0.001 —
12{1,1,1-k) BRI R > mg/Q 1 UF — < 0. 0005 — — < 0. 0005 - < 0.0005 < 0.0005 —
13[1,1,2-k) BT R > mg/Q 0.006 LI'F — < 0.0001 — — < 0.0001 — < 0.0001 < 0.0001 —
14|c) 20T FL Y mg/Q 0.03 LI'F — <0.001 — — < 0.001 - < 0.001 < 0.001 —
15|70 FLY mg/Q 0.01 LI'F — < 0. 0005 — — < 0.0005 — < 0.0005 < 0.0005 —
16|1,3-> oo JarRy mg/Q 0.002 LI'F — < 0.0001 — - < 0.0001 - < 0.0001 < 0.0001 —
17| RoEF> mg/Q 0.01 LI'F — <0.001 — — < 0.001 — < 0.001 < 0.001 —
18[L > mg/Q 0.01 LI'F — — — — < 0.001 — — < 0.001 —
REEER mg/2 i = = = = 1.4 = = 17 =
M ne/ 10 2T = = = - 0,005 - = 0005 =
20( 5o % mg/Q 0.8 LI'F — — — — <0.15 — — <0.15 —
20{1F5% mg/Q 1 UF <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
DN|FAAF 88 pg-TEQ/Q 1 UF — — — — 0.043 — — 0.042 —
| ZTFILRUEY mg/Q — — — — — < 0.0001 - — < 0.0001 —
24|k mg/Q — — — — — < 0.001 — — < 0.001 —
25|F L mg/Q — — — — — < 0.001 - — < 0.001 —
26|p H — 7.0 7.0 6.9 7.1 7.0 6.9 7.0 7.0 7.0
27|BOD mg/Q — — — — — <0.5 — - 1.0 -
28|CcoOD mg/Q — — — — — 2.3 — — 2.4 —
29|S s mg/Q — — — — — 2 - — 2 —
R EXES mg/Q — — — — — 1.5 — — 2.2 —
MEeVYA mg/Q — — — — — 0.009 — — 0.016 —
ﬁfnﬁ;ﬁ%’f?}"/ mg/Q — 5.9 5.8 5.9 55 5.5 5.0 4.6 4.7 5.0
B|ERIGEE 1 S/cm — 85 83 83 79 79 87 88 94 90




7—21
No 5 w | mmae SRR
RAEFAH H20.1.9 H20.2.6 H20.3.5 H20. 4. 23 H20.5.7 H20.6. 4 H20.7.2 H20.8.6 H20.9. 3
*i& ) B EY) B B B B B B
BRI 11:33 10:33 9:35 11:04 10:41 10:12 11:33 10:24 11:05
KB °Cc -0.3 -2.2 -0.1 22.0 14.9 20.1 25.1 24.2 26.9
KR °Cc 0.2 0.5 0.2 14.6 12.8 12.4 14. 8 18.2 17.3
BIRE JE3 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30
A wE wE wE wE wE wE e wE e
Bs wE wE e wE e mE e ®E R
1|AKRIHL mg/Q 0.01 LI'F — — — — — — — — —
o7y ne/t | FEE = = = = = = = = =
3 |#h mg/Q 0.01 LI'F — <0.001 — — < 0.001 — < 0.001 < 0.001 —
4 (&= mg/Q 0.01 I'F — <0.001 — — < 0.001 - < 0.001 < 0.001 —
5 |#KER mg/Q 0.0005 LIF — — — — — — — — —
s RUEBRET ==L ®B) | met | FEE = = = = = = = = =
P A= =X mg/Q 0.02 LI'F — <0.001 — — < 0.001 — < 0.001 < 0.001 —
8 |miEibRE mg/Q 0.002 LI'F — < 0.0001 — - < 0.0001 - < 0.0001 < 0.0001 —
9|1,2->/pRI4a Y mg/Q 0.004 LIF — < 0.0001 — — < 0.0001 — < 0.0001 < 0.0001 —
10{1,1->y00xTFL Y mg/Q 0.02 LIF — < 0.001 — - < 0.001 — < 0.001 < 0.001 —
1M Zx-1,2->s00xTFLY mg/Q 0.04 LI F — < 0.001 — — < 0.001 — < 0.001 < 0.001 —
12{1,1,1-k) BRI R > mg/Q 1 UF — < 0. 0005 — - < 0.0005 - < 0.0005 < 0.0005 —
13[1,1,2-k) BT R > mg/Q 0.006 LI'F — < 0.0001 — — < 0.0001 — < 0.0001 < 0.0001 —
14|c) 20T FL Y mg/Q 0.03 LI'F — <0.001 — — < 0.001 - < 0.001 < 0.001 —
15|70 FLY mg/Q 0.01 LI'F — < 0. 0005 — — < 0.0005 — < 0.0005 < 0.0005 —
16|1,3-> oo JarRy mg/Q 0.002 LI'F — < 0.0001 — - < 0.0001 - < 0.0001 < 0.0001 —
17|+ mg/Q 0.01 LI'F — <0.001 — — < 0.001 — < 0.001 < 0.001 —
18[L > mg/Q 0.01 LI'F — — — — < 0.001 - — < 0.001 —
REEER mg/2 i = = = = 1.0 = = 12 -
Y anmrzs ne/ 10 2T = - - - 0,005 - = 20005 =
20( 5o % mg/Q 0.8 LI'F — — — — <0.15 — — <0.15 —
20{1F5% mg/Q 1 UF <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 0.03 0.02
DN|FAAF 88 pg-TEQ/Q 1 UF — — — — 0.043 — — 0.042 —
| ZTFILRUEY mg/Q — — — — — < 0.0001 - — < 0.0001 —
24|k mg/Q — — — — — < 0.001 — — < 0.001 —
25|FLY mg/Q — — — — — < 0.001 - — < 0.001 —
26|p H — 7.3 7.2 7.1 7.4 7.4 7.2 7.3 7.3 7.3
27|BOD mg/Q — — — — — <0.5 — - 0.6 —
28|CcoOD mg/Q — — — — — 2.4 — — 3.6 —
29|S s mg/Q — — — — — 1 - - <1 —
R EXES mg/Q — — — — — 1.2 — — 1.3 —
MEeVYA mg/Q — — — — — 0. 006 - — 0. 005 —
32 jetl mg/Q — 33 43 38 26 26 32 35 48 36
B|ERIGEE 1 S/cm — 190 220 190 160 160 190 210 260 210




T—22 7—32
" = 5 RERI FKEKIR
No EH Baf REEEE (EREAE)
FEFEAH H20.1.9 H20.2. 6 H20. 3.5 H20. 4. 23 H20.5.7 H20. 6. 4 H20.7.2 H20. 8. 6 H20.9. 3 H20.5.7 H20. 8. 6
E EY Bh EY Bh Bh Bh Bh Bh Bh Bh Bh
podinli=| 10:09 9:08 8:12 9:55 9:03 9:14 10:02 6:25 10:08 9:28 9:20
R °C -0.8 -4.5 0.1 18.9 12.2 21.9 26.5 18.5 27.1 17.2 22.1
KR °C 0.5 0.7 1.5 9.1 11.8 14.4 18.1 17.1 15.9 10.6 11.5
BERE B = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30
&1 Ei3s) S Ei3s) S &R S &R S Ei3s) S EA
=5 ER R ER R ER R ER ] ER ] |R
1[ARSHL mg/Q 0.01 UF - - - - - - - - - - -
227y mg/Q TR — — — — — — — — — — —
3 |h mg/Q 0.01 UF — < 0.001 — — < 0.001 — < 0.001 < 0.001 — <0.001 <0.001
4 |#t%R mg/Q 0.01 UF - < 0.001 - - <0.001 - 0. 001 0. 002 — 0. 002 0.001
5 |#a/kER mg/2 ] 0.0005 LUF - - - - - - - - - - -
6 |/RUiE{LEZ =)L (PCB) mg/Q TR — - - - — — — - - - —
1|ovpnoxray mg/Q 0.02 UF — < 0.001 — — < 0.001 — < 0.001 < 0.001 — <0.001 <0.001
8 |mig b= mg/ 9 0.002 LUF - < 0.0001 - - < 0.0001 - < 0.0001 < 0.0001 — — < 0.0001
I|1.2->ynnxTa mg/Q 0.004 LL'F — < 0. 0001 — — < 0. 0001 — < 0.0001 < 0. 0001 — < 0.0001 < 0.0001
10{1,1-naTFL> mg/Q 0.02 UF - < 0.001 - - <0.001 - <0.001 < 0.001 — < 0.001 < 0.001
11|2R-1,2-YyIFL Y mg/Q 0.04 UF — < 0.001 — — < 0.001 — < 0.001 < 0.001 — <0.001 <0.001
221 1-r)oo0x32 Y mg/Q 1 UTF - < 0. 0005 - - < 0. 0005 - < 0. 0005 < 0. 0005 — — < 0. 0005
131,1,2-+)y 00Ty mg/Q 0.006 LA F — < 0. 0001 — — < 0.0001 — < 0. 0001 < 0.0001 — — < 0.0001
14| r) 00T FLY mg/Q 0.03 UF - < 0.001 - - <0.001 - <0.001 < 0.001 — — < 0.001
15| 7 v3oBRIFLY mg/Q 0.01 UF — < 0. 0005 — — < 0. 0005 — < 0. 0005 < 0. 0005 — < 0.0005 < 0. 0005
16]1,3-> oo JoRy mg/ 0.002 LLF — < 0. 0001 - - < 0.0001 - < 0.0001 < 0.0001 — — < 0.0001
17|RvtE > mg/Q 0.01 UF — < 0.001 — — < 0.001 — < 0.001 < 0.001 — <0.001 <0.001
18|lzL > mg/Q 0.01 UF - - - - <0.001 - - < 0.001 — — < 0.001
19 HEBEER mg/Q 10 LT - - - — 0. 60 — — 0. 66 — — 0.74
HEHEEREER mg/Q — — — - < 0.005 - - < 0.005 — — < 0.005
20|5o% mg/Q 0.8 LF - — — — <0.15 — — <0.15 — — <0.15
21|IF5% mg/Q 1 UTF] <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
R FAFFLUHE pg-TEQ/2 1 LT - - - - - - — — — — 0.042
B[ZTFLAREY mg/Q - - — - — < 0.0001 — - < 0.0001 — — < 0.0001
24> mg/Q — — — — — < 0.001 — — < 0.001 — — <0.001
B[FLY mg/Q - - — - — <0.001 — - < 0.001 — — < 0.001
26{p H — 7.4 1.4 7.3 1.4 1.5 1.5 7.6 1.3 7.4 1.2 6.9
27{BOD mg/ 9 — — — — — 0.5 — — 0.8 — — <0.5
28[coD mg/9 — — — — — 2.0 — - 1.9 - — <0.5
29(ss mg/Q - - — - — 3 — - 3 — — <1
N|LEH mg/Q — — — — — 0.75 — — 0.76 - — 0.75
(YA mg/Q - - — - — 0.022 — - 0.015 — — 0.017
[ 32[1BLAA > mg/Q - 1.3 1.9 8.5 6.0 7.1 1.4 1.5 6.6 5.9 8.0 7.9
B ESIEEE (1 S/cm — 91 98 100 67 85 100 110 110 76 98 110




(2) 3Tk

7—6
W 55—
No " sy | mmae T
REERH H20.1.9 H20.2.6 H20.3.5 H20.4.23 H20.5.7 H20.6. 4 H20.7.2 H20.8.6 H20.9.3
X 2y Eh E) Eh Bh Eh Bh Eh Bh
REREEZI 10:58 10:36 9:22 10:37 11:06 9:54 11:37 10:09 10:42
SR °Cc -2.8 1.1 0.6 24.3 18.8 21.7 28.4 26.4 28.2
KB °C 10.7 10.4 10.8 11.0 10.8 10.8 10.5 13.8 11.0
BRE E3 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30
& RE ®E RE ®E BEE ®E WBE BBE RE
85 R wR R WA R R e W wE
TGN O TS = = = = = = = =
A0S e/t | TEE = = = = = = = = =
3 [8R mg/Q 0.01 LI'F — 0.002 — — 0. 002 — 0. 005 0.003 —
3 e (BE) © mg/s | 0.01 LT = 20,001 = = 20,001 = 20,001 20,001 =
4 |BtE mg/Q 0.01 LI'F — <0.001 — — < 0.001 — 0. 001 0.004 —
4__6@ (Bik) X mg/Q 0.01 LI'F — — — — — — < 0.001 <0.001 —
5 [#87kER mg/Q 0.0005 LIF — — — — — — — — —
6 |/R)iEILEZ =)L (PCB) mg/Q Tt — — — — — — — — —
IR A= =X mg/Q 0.02 LI'F — <0.001 — — <0.001 — — <0.001 —
8 |mig{kikFE mg/Q 0.002 LI'F — — — — — < 0.0001 —
I|.2->yooxTiay mg/Q 0.004 LI'F — < 0.0001 — — < 0.0001 — — < 0.0001 —
10{1,1->onIFL> mg/Q 0.02 LI'F — < 0.001 — — < 0.001 — — <0.001 —
M|oR-1,2->HoaxITFLy mg/Q 0.04 LI'F — <0.001 — — < 0.001 — — <0.001 —
12(1,1,1-pYyo0QITR Y mg/Q 1 UTF — - — — — — — < 0.0005 —
13|11,1,2-r)0OITR Y mg/Q 0.006 LI'F — — — — — — — < 0.0001 —
14(r) 00T FL Y mg/Q 0.03 LI'F — - — — — — — < 0.001 —
15|17 300 FLY mg/Q 0.01 LI'F — < 0.0005 — — < 0.0005 — — < 0. 0005 —
16]1,3->4son0JaRy mg/Q 0.002 LI'F — — — — — — — < 0.0001 —
17| RvEF> mg/Q 0.01 LI'F — <0.001 — — < 0.001 — — <0.001 —
18|lzL > mg/Q 0.01 LI'F — — — — — — — < 0.001 —
WEBEER me/0 ) = = = = = = = 3.7 =
N3 me/0 0 BF—— = = = = = = 0,005 =
20| 503K mg/Q 0.8 LI'F — — — — — — — <0.15 —
201{IF 5% mg/Q 1 UTF 0.20 0.15 0.16 0.09 0.16 0.18 0.16 0.17 0.13
2(FA4F X5 pg-TEQ/Q 1 UF — — — — — — — 0. 044 —
B|ITFIILRUEY mg/Q — — — — — — — — < 0.0001 —
4| LT Y mg/Q — — — — — — — — <0.001 —
2B5(F LY mg/Q — — — — — — — — < 0.001 —
26|p H — 6.6 6.6 6.5 6.5 6.4 6.3 6.3 6.7 6.4
27|BOD mg/Q — — — — — — - — - —
%8s s mg/2 = = = = = = = = = =
29[coD mg/2 = = = = = = = = = =
NEEx ne /0 = = = = = = — = — =
312 YA mg/2 = = = = = = = = =
2|ELA A2 mg/Q — 78 130 130 76 120 130 120 83 5.3
| ERInER 1 S/cm — 570 680 690 540 660 710 680 610 360
X BKBEALLLREREL. KEORRENREBET 570, A0T50 715 (B0 4am) CHBLEED DRI 5 ERIE,
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7—9

o = HNAEEIRE
No ] BfT REE%E No. 154
HEFAH H20.1.9 H20.2.6 H20.3.5 H20.4.23 H20.5.7 H20.6. 4 H20.7.2 H20.8.6 H20.9.3
Xz £Y EY =Y fEh En fEn B fEh Bh
FREREFZI 12:04 11:34 10:28 11:03 9:41 10:14 13:27 8:01 11:13
SR °C -2.1 1.5 0.8 22.6 13.5 18.1 25.0 21.0 25.8
KR °C 9.1 7.6 7.8 9.5 9.7 9.5 10.5 11.5 9.5
BRE )4 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30
=Xi S E3s) S &R S &R 35 3= S
=5 R ER ] ER ] E|R ] EmR ]
1|AFSHL mg/Q 0.01 LI'F - - - — — — — — —
2|1>F7Y mg/Q T — - - - - - - - —
3 [8n mg/Q 0.01 LI F] <0.001 0. 001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0. 002
3 () X mg/4 0.01 U'F — < 0.001 — — — — — — <0.001
4 [HtFR mg/Q 0.01 LI F] <0.001 0. 002 0. 003 < 0.001 0. 002 0. 002 0. 002 0. 002 0. 001
4 \ix (mm) X mg/Q 0.01 U'F — 0.002 0.003 — 0. 001 0.002 0. 002 0.002 <0.001
5 |[#87KER mg/Q 0.0005 LLF - - — — — — — — —
6 |/RUiEILEZ =)L (PCB) mg/Q T — - - - - - - - —
1(CHrooray mg/Q 0.02 LI F] <0.001 < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 —
8 |misibik*E mg/Q 0.002 LL'F — — — — < 0.0001 — — < 0.0001 —
9(1,2-YynpxI4ay mg/Q 0.004 LIF] <0.0001 < 0.0001 < 0.0001 — < 0.0001 — < 0.0001 < 0.0001 —
0t1->y00xFL > mg/Q 0.02 LIF] <0.001 <0.001 <0.001 — <0.001 — < 0.001 <0.001 —
1M ZR-1,2->s00TFLY mg/Q 0.04 LI F] <0.001 < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 —
12211, 1,1-k) Y02 Y mg/Q 1 UTF — — — — < 0.0005 — — < 0.0005 —
13|11,1,2-b)pRBITRY mg/Q 0.006 LIF — — — — < 0. 0001 — — < 0.0001 —
4|r)yoOITFLY mg/Q 0.03 UU'F — — — — < 0.001 — — <0.001 —
15|73 0B0ITFLY mg/Q 0.01 LA™ <0.0005 < 0.0005 < 0.0005 — < 0.0005 — < 0.0005 < 0.0005 —
16(1,3->4HnoJoRy mg/Q 0.002 LL'F — — — — < 0.0001 — — < 0.0001 —
17|+ mg/Q 0.01 LI F] <0.001 < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 —
18|zL > mg/Q 0.01 U'F — — — — 0. 001 — — 0. 001 —
HEBMER mg/Q . — - — — 1.2 — — 0.15 —
" ERmttER ne /0 0BT —— = = = <0.005 = = 20,005 =
20(5o% mg/Q 0.8 LUF — — — — <0.15 — — <0.15 —
2{F5F mg/4 1 UTF 0.03 <0.02 0.03 0.03 0.02 <0.02 <0.02 0. 04 <0.02
2B FX U5 pg-TEQ/Q 1 UTF — — — — 0. 044 — — 0. 044 —
|TFIILNUEY mg/Q — — — — — < 0.0001 — — < 0.0001 —
24| LTy mg/Q — — — — — < 0.001 — — < 0.001 —
25|1F LY mg/Q — — — — — < 0.001 — — <0.001 —
26|p H — 6.7 6.8 6.9 6.5 6.6 6.7 6.9 6.7 6.5
27|BOD mg/Q - — - — - — - — - —
28|S' s mg/Q — — — — — — — — — —
29|]coD mg/Q - — - — - — - — - —
N|EEXR mg/4 — — — — — — — — — —
(&Y A mg/Q — — — — — — — — — —
|32 [IBe A4 > mg/Q — 83 79 79 76 85 82 78 80 60
BESEEE £ S/cm — 420 390 380 400 410 390 390 400 340

¥ BKBHCEALLTEZEREL. KEOKREMEICEIET 570, AVTSUT 18— (FRE0.45um) THBRLEEDARITOVWTHITEER,
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7—10

B A am 34 ng&‘@'
No i) B Bifsp RIBEEHE FAE
WEEAR H20. 1.9 H20. 2. 6 H20. 3.5 H20. 4. 23 H20.5. 7 H20. 6. 4 H20.7. 2 H20. 8. 6 f20. 9. 3
PN 3 E5 — — — — — B En En
FEREEZ 12:27 — — — - - 10:36 9:50 11:36
SR °C 2.0 — — — — — 221 22.5 25 4
KB °C 7.8 — — — — — 10.3 10.9 8.8
BRE E3 = 30 — — — — — 3.0 7 > 30
=Lz Eis) — — — — — Fief RS Eis)
25 ER — — — — — ] |R ]
HEISEEIN mg/Q 0.01 LIF — — — —
2|v7 Y mg/Q Tt — — — —
3 mg/2 0.01 LIF| <0.001 0.032 0. 009 0. 002
3 e () ¥ mg/Q 0.01 LIF — <0.001 <0.001 < 0. 001
4 |#x mg/2 0.01 LI F| <o0.001 0.004 <0.001 < 0. 001
4 Jitm (2@ © mg/Q 0.01 LIF — <0. 001 — —
5 [#5kE8 mg/2 | 0.0006 LIF — — — —
6 |R1)iE{LE T =)L (PCB) mg/Q N — — — —
APZEEEED mg/2 0.02 LIF| <o0.001 < 0.001 <0.001 -
8 |miElbRE mg/2 | 0.002 LIF — — <0.0001 —
I ZEEEEY mg/2 | 0.004 LIF] <0.0001 < 0. 0001 <°0.0001 -
10[1,1->sooxFL> mg/Q 0.02 LT[ <0.001 <0. 001 <0.001 —
N[ x-1,2->hnaTFLy mg/2 0.04 LIF| <o0.001 < 0. 001 <0.001 -
AINEEYCEEEE Y mg/Q 1T UTF — — <0.0005 —
13[1,1.2-ryyOnTRY mg/2 | 0.006 LIF — — <0.0001 —
NIYEEEEETD) mg/Q 0.03 LIF — — <0.001 —
HEEZEEEE D) mg/2 0.01 LIF| <0.0005 < 0. 0005 < 0. 0005 -
16[1,.3->/nnJnoRy mg/Q 0.002 LT — xR R R x R — < 0.0001 —
TRUEY mg/Q 0.01 LAF| <o.001 p:| bil| p:| Al Al <0.001 <0.001 —
18l mg/Q 0.01 LIF — — <0.001 —
HEREER mg/Q N — — 3.1 —
N3 me/0 10 BF—— = 0,006 =
20[5-o% mg/Q 0.8 LIF — — <0.15 -
AEEES mg/Q 1T LT 0.13 0.07 0.15 0.14
e pg-TEQ/2 1T UTF — — R —
B[TFLRCEY mg/Q — — — <0.0001 —
AED mg/2 — = — <0.001 —
25X Ly mg/Q — — — <0.001 —
26| p H — 7.6 7.0 70 6.9
27|BOD mg/Q — — — — —
28|S S mg/Q - — — - -
29]c oD mg/Q — — — — —
N[EEFX mg/Q - - — — —
&Y A mg/Q — — — — —
2[Eem 4> mg/2 = 71 110 70 27
B ESEER ©S/cm — 460 570 490 300
X BRKEBISEALZLTEZBREL. KEORREMREICIRIET =0, AT Ta8— (AE0.45um) THBLEEDBRIZOVTHTEENE,
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7—23 7—24
14 4 o g IR E FARE TR
No bi:| ] I:-Xiv2 RIBEE R ok R ok
HEFERH H20.1.9 H20.2.6 H20.3.5 H20.4.23 H20.5.7 H20.6. 4 H20.7.2 H20.8.6 H20.9.3 H20.5.7 H20.8.6
Xz gY £Y £Y Eh Eh Eh Eh BN Eh B B
REEEZ 10:37 10:49 8:53 10:19 9:29 9:35 11:06 8:48 10:24 9:25 7:20
SR °C -4.0 -2.3 1.8 23.9 12.5 20.8 28.1 23.2 26.5 15.1 19.2
K8 °C 9.5 9.8 10.1 10.3 10. 6 1.7 1.4 10.5 12.0 9.8 15.0
BRE E3 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 KA
=0 S ) &= ) xEf i3S &= ) = s EEE
£ ER ER ER ER ER ER ER ER ER ER ER
[HEEPN mg/Q 0.01 LI'F — - — — — — — — — — —
2[v7> mg/Q TEH — — — — — — — — — — —
3 |88 mg/Q 0.01 LIF|] <0.001 <0.001 < 0.001 <0.001 < 0.001 <0.001 < 0.001 <0.001 < 0.001 0.002 0.011
3o m@) © me/Q 0.01 LT = = = = = = — — — <0.001 0. 001
4 |ft%R mg/4 0.01 LIF] <0.001 <0.001 < 0.001 <0.001 < 0.001 <0.001 < 0.001 <0.001 < 0.001 0. 003 0. 005
7 ix om © me/Q 0.01 LT = = = = = = — — — 0.002 0.002
5 [#87kER mg/4 0.0005 LLF - - - - - - - - - - -
6 |R1ig{LkE 7 =)L (PCB) mg/Q Tt — — — — — — — — — — —
IR A= =X mg/Q 0.02 LIF] <0.001 <0.001 < 0.001 <0.001 <0.001 <0.001 < 0.001 <0.001 < 0.001 <0.001 V&l
8 |mig{bikFE mg/Q 0.002 LIF] <0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 P&l
9(1,2-YynpxIiry mg/Q 0.004 LIF] <0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 V&l
10{1.1->spaxTFL> mg/Q 0.02 LI <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 &l
M|oR-1,2-CoHo0xFL Y mg/Q 0.04 LI <0.001 <0.001 <0.001 <0.001 < 0.001 <0.001 < 0.001 <0.001 <0.001 <0.001 V&l
1211,1,1-b)pEOITR Y mg/Q 1 UT] <0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 &l
13(1,1,2-kYY 002> mg/Q 0.006 LAF] < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 V&l
14(r) 00T FL Y mg/Q 0.03 L™ <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 &l
15|17 300 FLY mg/Q 0.01 LAF] <0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 V&l
16]1,3->4sonJaRy mg/Q 0.002 LI <0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 &l
17 R mg/Q 0.01 LAF] <0.001 <0.001 < 0.001 <0.001 < 0.001 <0.001 < 0.001 <0.001 <0.001 <0.001 V&l
18|zL > mg/Q 0.01 LI'F — — — — < 0.001 — — < 0.001 — < 0.001 < 0.001
19 HEBEER mg/Q 10 BT — — — — 2.1 — — 2.0 — 0.32 0.25
| HHEBEER mg/4 — — — — < 0.005 — — < 0.005 — < 0.005 < 0.005
20|53 0F& mg/Q 0.8 UTF — — — — <0.15 — — <0.15 — <0.15 V&l
21|IF5 % mg/Q 1 UT] <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
2(F4F X5 pg-TEQ/Q 1 UF — — — — 0. 044 — — 0. 049 — & KA
B|TFLRUEY mg/Q — — — — — — — — < 0.0001 — — KA
4| kLT mg/4 — — — — — — — — < 0.001 — — KA
2(F LY mg/ — — — — — — — — < 0.001 — — KA
26|p H — 7.6 7.5 7.4 6.9 6.9 6.8 6.9 6.7 6.8 7.3 7.0
27|BOD mg/Q — — — — — — — — — — — —
28|COD mg/Q — — — — — — — — — — — —
29|S S mg/Q — — — — — — — — — — — —
R EXES mg/Q — — — — — — — — — — — —
MN|EYA mg/Q — — — — — — — — — — —
2|EILA A > mg/Q — 14 14 13 13 13 13 13 12 13 7.1 7.3
33| BRInER 1 S/cm — 120 120 120 110 110 110 110 110 140 93 130
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No

-]

B

7—31
SU-vLERAE

Tk
HETAR 20.7.9 120 2.6 20.3.5 W20.4.23 W20.5.7 120.6.4 0. 7.2 120.8.6 720.9.3
PGS =) =Y =) BEn [ BEn - BEn [
BREZ 1150 11:20 9:57 10:49 10.14 10:05 = 824 7058
5B °C 2.6 2.4 0.3 211 14.0 8.5 = 2.0 26.8
KR °c 8.5 8.6 9.0 9.2 9.5 9.0 = 9.5 9.8
BEE B > 30 3.8 10 = 30 9 = 30 - = 30 > 30
=% i3S KB O] =) FRBE 3] — E3E) i3S
25 |E | | | |mE |mE — |mE mE
T[hFEoL me/ 2 0.01 IF — = = = — — R — —
2|27y mg/Q AR — — — — — — - - -
3 |88 me/2 0.01 IF - <0.001 - - <0.001 - - 0.004 -
&) me/2 0.01 UF = - = - — - - <0.001 -
NS me/2 0.01 UF - <0.001 - - <0.001 - - <0.001 -
1 E AR me/2 0.01 UF - - = = - = = - =
5 [#KER mg/8_ | 0.0005 LIF = = = = = = = — —
6 |KJIEILE 7 = =)L (PCB) me/2 R = - - - - - - - -
ICZEEE Y, me/2 0.02 IF - <0.001 - - <0.001 - - <0.001 -
RS me/8 | 0.002 LIF - — - - < 0. 0001 - - <0.0001 -
9[l,2-vronTAay mg/8 | 0.004 LT - <0.0001 - - < 0. 0001 - - <0.0001 -
NIRRT me/2 0.02 UF - <0.001 - - <0.001 - - <0.001 -
N[ x1.2-So00TFL> | me/t 0.04 LT - <0.001 - - <0.001 - - <0.001 -
HINEYPEEEED) me /2 1T WF = — - - <0.0005 - - <0.0005 -
HINNEYPEEEE D) mg/8 | 0.006 LIF = — — - < 0. 0001 - - < 0.0001 -
NIYEEEEETD) me/2 0.03 UF = - - - <0.001 - - <0.001 -
HETELEEEE D) me/2 0.01 UF - <0.0005 - - <0.0005 - - <0.0005 -
16]1,3-C/AnJO~y me/8 | 0.002 LIF = — - - < 0. 0001 - - <0.0001 -
TRt me/2 0.01 UF - <0.001 - - <0.001 - - <0.001 -
18l me/2 0.01 UF = — - - <0.001 - - <0.001 -
HEBMER mg/Q . — — — — 2.4 — — 2.5 —
M ne/ 10 AT = = = = 70005 = = 0,006 =
0[5 -5 me/2 0.8 LIF = — — — <0.15 - - <0.15 -
RIEEES me/2 1T UF| <002 <0.02 <0.02 <0.02 <0.02 <0.02 - <0.02 <0.02
e pe-TEQ/8 1T WF - — — — 0.053 — - 0.066 —
BlTFAR B me/0 — - - - - - - - <0.0001 -
IES me/2 — — — — — - — - <0.001 -
BlET L me/0 - - - - - - - - <0.001 -
26]p H - 6.3 6.4 6.2 6.1 6.4 6.1 - 6.2 6.3
27|BOD mg/Q - — - — - — - — - —
28|coOD mg/Q — — — — — — — — — —
2[ss me /2 - - - - - - = = = =
IS mg/2 - - — - - - - - - -
HIET me/2 - - - - = = = = = =
BREEED me/2 = 6.6 9.4 1 5.5 6.3 9.8 = 6.0 5.2
BEREEE 1 S/cm = 140 150 150 96 120 150 = 120 9%
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(3) BKERRHK

7—3
T TN KEE
No " B A s 1E18 1L
AEEAH H20.5.7 H20.8.6
*& Rh Bh
IREREFZI 10:35 10:45
iR °C 15.2 29.8
KiE °C 1.1 17.8
BEE B 25 5
& 2E BE
a5 R BER
BN mg/2 0.1 UF — < 0.001
2172 mg/Q 1 UTF — <0.01
3 [%h mg/Q 0.1 UF 0.002 0. 002
4 [HF mg/9 0.1 U] <0.001 < 0.001
5 [#87KER mg/Q 0.005 LLF — < 0.0005
6 [R)iE{LE T =)L (PCB) mg/9 0.003 LT — < 0.0005
A A=1=E¥X ¥ mg/Q 0.2 UTF 0. 006 0. 004
8 |mig{bikE mg/9 0.02 U] <0.0001 < 0.0001
911,2->yo0xs > mg/Q 0.04 UUF 0.011 0.012
10[1,1-> 00T FL > mg/Q 0.2 UT] <0.001 < 0.001
M|R-1,2-o/0Q0xTFL Y mg/Q 0.4 L] <0.001 0. 002
12{1,1,1-p) 00T 2 > mg/Q 3 L] <0.0005 < 0.0005
13|1,1,2-r)O0OxTR Y mg/Q 0.06 LIT] <0.0001 < 0.0001
14 ) oo0xFL Y mg/Q 0.3 U] <0.001 < 0.001
15|73 00TFLY mg/2 0.1 L] <0.0005 < 0.0005
16[1,3->4sonJaoRy mg/Q 0.02 U] <0.0001 < 0.0001
T[Ro ey ne/t | 0.1 F| 027 0.96
18|L > mg/9 0.1 U] <0.001 < 0.001
HEBEER mg/Q . 0.12 <0.02
NErEs ne/t | ' BT o0z <0.006
20[{5-% mg/Q 8 UTF 0.63 0.41
ARIESPE S mg/Q 10 AF 27 32
2| 54X pg-TEQ/Q 10 LIF 0.20 0. 34
WB|TFILRVEY mg/4 — 2.1 2.9
4| LTV mg/Q — 6.8 8.0
25|F L2 mg/Q — 1.3 1.1
26(p H — 7.4 1.2
27{BOD mg/Q — 2200 1900
28{CcOD mg/Q — 930 740
29{s s mg/Q — 70 31
N|2EFH mg/Q — 330 300
&Y A mg/9 — 40 34
| 32|1Be 1A > mg/Q — 2700 2300
B ERInER ©S/cm — 11000 10000
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(4) BEKEERNHT K

7—8 72 7—26 7—27
No E g B Bipse R TR BE— 1 -2 BiE—-3
No. 12#F
REEAHB H20.5.7 H20. 8. 6 H20.2. 6 H20.5.7 H20.7.2 H20. 8. 6 H20.5.7 H20. 8. 6 H20.5.7 H20. 8. 6
K& Bh Bh £Y Bh Bh Bh Bh Bh Bh Bh
EEEZ 10:23 9:16 11:21 11:42 12:14 11:22 10:26 10:02 9:54 9:40
ER °C 15.2 25.1 -1.8 17.0 24.1 30.5 16.0 27.8 15.0 25.5
KB °C 13.4 13.7 10.7 10.7 10.7 10.7 1.4 11.4 1.4 11.4
BRE E 23 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30
=X HEBRE #E MER MER HER L IR CES) EE Be
25 HIBE R e B L B mR B L WIBAE R WA R
1|ARSHL mg/2 0.01 LIF — <0.001 — — — — — — — —
2|>7y mg/Q THEH — <0.01 — — — — — — — —
3 [ mg/2 0.01 LT 0.003 0. 002 — — — — — — — —
3 e () M mg/2 0.01 LLF| <o0.001 <0.001 — — — — — — — —
[z mg/2 0.01 LT 0. 006 0. 004 — — — — — — — —
4 ix (@) X! mg/Q 0.01 LIF 0. 003 0.001 — — — — — — — —
5 |#kEE mg/Q | 0.0005 LAF — < 0.0005 — — — — — — — —
6 |[RUBILET =)L (PCB) mg/Q THEH — < 0.0005 — — — — — — — —
VIR mg/2 0.02 LUF 0. 002 0. 002 0. 004 0. 004 0.003 0. 004 < 0. 001 <0.001 < 0. 001 <0.001
8 |miElbRE mg/2 0.002 LLF — < 0. 0001 < 0.0001 < 0. 0001 < 0.0001 < 0. 0001 < 0.0001 < 0. 0001 < 0.0001 < 0. 0001
(IR P mg/Q 0.004 LIF 0.0023 0. 0022 0. 0003 0. 0003 0. 0003 0. 0003 < 0. 0001 < 0. 0001 0. 0001 < 0. 0001
opi1-vyoaxFLy mg/Q 0.02 L F] <0.001 <0.001 0.015 0.021 0.017 0.019 < 0.001 <0.001 < 0.001 <0.001
1M{y2-1,2-Ys00xTFLY mg/Q 0.04 LIF] <0.001 <0.001 0. 001 0. 002 0. 001 0. 001 < 0. 001 <0.001 < 0. 001 <0.001
1211,1,1-k) 50048 > mg/Q 1 UF — < 0.0005 0.063 0. 094 0.068 0.077 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1B[1,1,2-kysE0ITEY mg/Q 0.006 LAF — 0. 0002 < 0. 0001 < 0. 0001 < 0. 0001 < 0. 0001 < 0. 0001 < 0. 0001 0. 0003 0. 0003
NIYEEEEETY mg/2 0.03 LT — <0.001 0. 002 0.003 0. 002 0. 002 <0.001 <0.001 <0.001 <0.001
15|17 S 00TFLY mg/Q 0.01 LIF] <0.0005 < 0. 0005 0. 0069 0. 0086 0. 0068 0. 0070 < 0. 0005 < 0. 0005 < 0. 0005 < 0.0005
16]1,3->4sooJorRy mg/Q 0.002 LIF — < 0. 0001 < 0.0001 < 0. 0001 < 0.0001 < 0. 0001 < 0.0001 < 0. 0001 < 0.0001 < 0. 0001
17|RvEy mg/2 0.01 LT 0. 068 0. 061 < 0. 001 < 0.001 < 0. 001 <0.001 < 0. 001 <0.001 0. 002 0. 002
18[eL > mg/2 0.01 LT — <0.001 — — — — — — — —
MEHEES mg/Q R — <0.02 — — — — — — — —
" ERmtER me/2 10 2T = <0.005 = = = = = = = =
20[5 0% mg/2 0.8 LT — <0.15 — — — — — — — —
20{F5F mg/Q 1 LT 2.7 26 — — — — — — — —
| FAAFIUE pg-TEQ/2 1 UF — 0.045 — — — — — — — —
B[TFLRUEY mg/Q — — 0.047 < 0.0001 < 0. 0001 < 0. 0001 < 0. 0001 < 0.0001 < 0. 0001 0. 46 0.10
PP mg/2 — — 0. 005 < 0. 001 <0.001 < 0. 001 <0.001 < 0. 001 <0.001 0.027 0. 061
B[x LY mg/Q — — 0. 62 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 0.19 0.16
26[p H — 6.8 6.7 6.1 5.9 5.9 5.8 6.6 6.4 6.6 6.5
271[BoD mg/Q — — — — — — — — — — —
28[s s mg/2 — — — — — — — — — — —
29[cop mg/2 — — — — — — — — — — —
N[EE%R mg/0 = = = = = = = = = = =
D mg/2 — — — — — — — — — — —
| 32|iE LA A > mg/2 - 840 1100 250 250 300 260 5.7 6.5 130 43
3| BRRER uS/cm - __4000 4800 X2 %2 X2 %2 X2 %2 X2 %2
X1 HKBISEALELIEZREL. KEOKRZMEICIEET 570, AVTS50T4)L8— (FLE0.46um) TAHABLEERDARIZOVLWTHHTEEN,
%2 BREERRUHMTKEIZONT, EHEEHRZER,

16




7—28 7—29 7—25—2

No ® B s | mmas R4 RiE-s RiE-e

RAEFAH H20.5.7 H20.8.6 H20.5.7 H20.8.6 H20.2.6 H20.5.7 H20.7.2 H20.8.6

xi Bh Bh Bh Bh ED Bh Bh Bh

BRI 9:21 9:06 10:49 10:22 10:49 11:16 11:51 11:01

5B °Cc 15.9 24.8 15.4 28.0 -1.8 18.1 24.2 29.2

KiE °Cc 11.0 11.0 11.8 11.8 1.1 1.1 1.1 1.1
BRE E = 30 = 30 1 = 30 = 30 = 30 = 30 = 30

&H wE wE BRREE BEE BEE BEE wE BEE

85 wE wE RS FES W W wE WE
1|[hFIHA mg/Q 0.01 LI'F — — — — — — — —
A e/t | FEHE = = = = = = = =

3 [¢n mg/Q 0.01 LI'F — — — — — — — —

4 |ft%R mg/Q 0.01 LI'F — — — — — — — —

5 |#8IKER mg/¢ [ 0.0005 LLIF — — — - - - — —

6 [/RUiEILE =)L (PCB) mg/Q AR — — — — — — — —
P A= =X mg/Q 0.02 L] <0.001 <0.001 0. 002 0. 001 < 0.001 <0.001 < 0.001 <0.001
8 |miEibRE mg/Q 0.002 LI ] <0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001
I1,2->sooxT4a > mg/Q 0.004 LIT] <0.0001 < 0.0001 0. 0008 0. 0007 < 0.0001 < 0.0001 < 0.0001 < 0.0001
10(1.1->y0xFL> mg/Q 0.02 LI'F] <0.001 <0.001 < 0.001 <0.001 < 0.001 <0.001 < 0.001 <0.001
11|2R-1,2-HaATFLY mg/Q 0.04 LI'F 0. 002 0.002 0.008 0. 006 < 0.001 <0.001 < 0.001 <0.001
12(1,1,1-kYY 002> mg/Q 1 LT <0.0005 < 0. 0005 < 0. 0005 < 0. 0005 < 0. 0005 < 0. 0005 < 0. 0005 < 0. 0005
13[1,1,2-hYy0QRITR Y mg/Q 0.006 LIT] <0.0001 < 0.0001 0. 0005 0. 0003 < 0.0001 < 0.0001 < 0.0001 < 0.0001
1MA4(r) 00T FLY mg/Q 0.03 LI'F] <0.001 <0.001 0.017 0.011 < 0.001 <0.001 < 0.001 <0.001
15|17 35808 IFLY mg/Q 0.01 LI'F 0. 0045 0. 0050 0.0022 < 0. 0005 < 0. 0005 < 0. 0005 < 0. 0005 < 0. 0005
16]1,3->HyopJaRy mg/Q 0.002 LIF] <0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001
17| RoEF> mg/Q 0.01 LIFT] <0.001 <0.001 0. 004 0.003 < 0.001 <0.001 < 0.001 <0.001
18|l > mg/Q 0.01 LI'F — — — — — — — —

RBEEE mg/0 : = = = = = = = =

N mg/0 10 uF = = = = = = = =
20|15 0F mg/Q 0.8 LI'F — — — — — — — —
201 F5 %K mg/Q 1 UF — — — — — — — —
2| FA4FFT 88 pg-TEQ/Q 1 UTF — — — — — — — —
|ZTFIARUEY mg/ 2 — < 0.0001 < 0.0001 0. 0057 0.0070 < 0.0001 < 0.0001 < 0.0001 < 0.0001
24| LT mg/4 — < 0.001 <0.001 < 0.001 <0.001 < 0.001 <0.001 < 0.001 <0.001
25|F L mg/ 2 — < 0.001 <0.001 0.002 0.002 < 0.001 <0.001 < 0.001 <0.001
26|p H — 6.0 59 6.5 6.4 7.0 7.0 6.9 6.7
27|BOD mg/Q — — — — — — — — —
28|S S mg/Q — — — — — — — — —
29|COD mg/Q — — — — — — — — —
| L2EHR mg/8 — — — — — — — — —
|2V A mg/Q — — — — — — — — —
321G A > mg/¢ — 100 110 400 440 5.3 14 12 7.8

X BREEERUHEFKRCONT. BEE

EES
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2 FERKSERMEET=-4) O THRERR

e BEHER B AR R iR AIE R - .
No E R A-1a A-1b A-1c Iirﬁxg‘ﬁ
HEEAA H20.1.22 | H20.5.27 | H.20.7.24 | H20.1.22 | H20.5.27 | H.20.7.24 | H20.1.22 | H20.5 27 | H.20.7. 24 '
1[~o€> me/m* | 0.0008 | 0.0004 | 0.0005 | 0.0006 | 0.0003 | 0.0004 | 0.0006 | 0.0004 | 0.0005 |O0.003LLF
2 rusaRIFLY me/mt | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 |0.2 LT
3|7 rSo0nTFLY me/mt | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 |0.2 LIF
NEZELERED, me/i® | 0.00024 | 0.00042 | 000034 | 0.00026 | 0.00026 | 0.00031 | 0.00022 | 0.00026 | 0.00029 | 0.15 LIF
¥ RUEVHICKDIRIDFBLRIZGIREREEFTER,
3 KIEFELEPEE=-AR)VIRABER
A S LR A —2
A HAR H20.1.19~1.25 H20. 5. 26~6.1 H20725~729 | ooy
1BTYE| @mas |1BTF9E]| @ms |1BF9E]| @Ee
(ppm) TEE (ppm) TEE (ppm) TEE
188 0.003 o 0. 001 o 0. 001 o)
- EE 0,001 o) 0,001 o) 0,001 O |imanes
% 38 E 0.002 o) 0.002 o) 0. 001 O |0 04~
it e 0.003 o) 0,002 o) 0.002 o | 0. 06pono>
§ 5EE 0.007 0 0. 001 0 0.002 o) é; ;ﬁ%
EE 0,002 o) 0,001 o) 0. 001 o)
iEE 0.002 0 0. 001 0 0. 001 0
A S LR A —2 IRIERAE
A HAR H20.1.19~1.25 H20. 5. 26~6.1 H.20.7.23~7. 29
18 EH1E HWa 165 1E EE 18 EH1E ey 165 1E FE 18 EH1E EE 165 E e
(mg/m°) MES (mg/m*) TES (mg/m*) TES (mg/m*) THES (mg/m*) TES (mg/m*) TES
- EE 0.010 o) 0. 055 o) 0.015 o) 0.045 o) 0.043 o) 0. 091 o) BT
o EE 0.005 o) 0.023 o) 0,006 o) 0.030 o) 0.032 o) 0.071 o) 0. Ing/n
s EE 0.011 o) 0.043 o) 0.010 o) 0.037 o) 0.013 o) 0.039 o) e
¥ =L 0.010 o) 0.034 o) 0.007 o) 0.018 o) 0.023 o) 0.073 o) ‘
= =R 0008 O 0.043 O 0.016 O 0059 O 0.034 O 0.078 O ‘g*;ﬂﬁ%?
= 688 0.017 0 0.118 0 0. 009 o) 0.033 0 0.015 O 0. 046 O e
iEE 0. 004 o) 0.014 o) 0.017 o) 0.042 o) 0. 009 o) 0.030 o)
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4 BERBE-2)UITRAERR

(1) EE
, iR X B tth X EER _
HITE Hh = IS X
AER H20. 1. 22 | H20.5. 27 | H20.7.24 | H20.1. 22 | H20. 5. 27 | H20.7.24 | H20.1.22 | H20. 5. 27 | H20. 7. 24 (GE#EF;EIZE#)
BFE (RR) 6:00~22:00 6:00~22:00 6:00~22:00 ) )
BIEGER (LAeq) *2 58 | 59 | el 59 | 61 | e 68 | 68 | 68 T0UF
X1 REEEQ ERICETH HMEBORERE] OBRBEREZESERICEET AEREZER,
X2 LAeqlEZEMEZT LRI,
(2) 1R
, iR X B tth X EER
A—2 A—3 A—4 e
B B H20.1.22 | H20.5.27 | H20.7.24 | H20.1.22 | H20.5.27 | H20.7.24 | H20.1.22 | H20.5.27 | H20.7. 24
« RR*S 30k | 30k® | 30%kE 32 33 31 44 46 46 65
BIERER™? .
e 30k | 30k#E | 30kH | 30k 31 305k 42 43 38 60
X1 BHEBEER EBRRXERFOEHRE] OF 1 EREEZEA,
%2 BIEHLRFB%L TODLEIRE (L) DFHIE,
X3 BR[E (BEF~198F) . &M (6FF~8B R U 19 ~220%)
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4 F7—23 (FAIRFEHTK)
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